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in(22].= (*  Soluti~n to Problem 3 in A.eigpment 1 - 06-713 *) 

(*  Pram Ax=b we have to Solve for x *) 

A =  ( ( 1 ,  5, 1, 4 ) s  ( 1 ,  0 ,  -1, 1 ) s  (2 ,  - 4 ,  - 4 ,  1 ) .  ( 0 ,  1, 4 ,  8 ) )  

(*  part1 *) 

b =  { { I ) .  ( 0 1 .  {OI. (011  
(*  x = (AA-1)  * b *) 

Inverse [A] . b 

c =  {{OI, { l I #  {OI, {OII 
Inverse [A] . c  

d = {{OlV {OI, { l I #  {OII 
Inverse [A] . d 

0 = {{OI,  {OI, {OI# { l I I  
Inverse [A] .e 

1 



1n[37].= (*  Solution t o  Problem 3 part 2 *) 

A =  ((1, 5 ,  2, 41, {I, 0, -1, 21, {2, -4 ,  -4 ,  I), {O, 2, 4, 8 ) )  
( *  A A 4  i s  given by *) 

A.A.A.A 







sim; l o r  i3 


